Mona Aaly Kologani; Rajab Ali Borzooei On ideal theory of hoops

Mathematica Bohemica, Vol. 145 (2020), No. 2, 141-162

Persistent URL: http://dml.cz/dmlcz/148151

# Terms of use:

© Institute of Mathematics AS CR, 2020

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

# ON IDEAL THEORY OF HOOPS

MONA AALY KOLOGANI, Zahedan, RAJAB ALI BORZOOEI, Tehran

Received December 18, 2017. Published online March 26, 2019. Communicated by Sándor Radeleczki

Abstract. In this paper, we define and characterize the notions of (implicative, maximal, prime) ideals in hoops. Then we investigate the relation between them and prove that every maximal implicative ideal of a  $\lor$ -hoop with double negation property is a prime one. Also, we define a congruence relation on hoops by ideals and study the quotient that is made by it. This notion helps us to show that an ideal is maximal if and only if the quotient hoop is a simple MV-algebra. Also, we investigate the relationship between ideals and filters by exploiting the set of complements.

*Keywords*: Hoop; (implicative, maximal, prime) ideal; MV-algebra; Boolean algebra *MSC 2010*: 06B99, 03G25

#### 1. INTRODUCTION

Non-classical logic has become a formal and useful tool for computer science to deal with uncertain information and fuzzy information. The algebraic counterparts of some non-classical logics satisfy residuation and those logics can be considered in a frame of residuated lattices, see [9]. For example, Hájek's BL (basic logic, see [10]), Lukasiewiczs MV (many-valued logic, see [8]) and MTL (monoidal t-norm based logic, see [12]) are determined by the class of BL-algebras, MV-algebras and MTL-algebras, respectively. All of these algebras have lattices with residuation as a common support set. Thus, it is very important to investigate the properties of algebras with residuation. Hoops are naturally ordered commutative residuated integral monoids, introduced by Bosbach in [8] and [12] then studied by Büchi and Owens, a paper never published. In the last years, hoops theory was enriched with deep structure theorems (see [4], [8], [12]). Many of these results have a strong impact on fuzzy logic. Particularly, from the structure theorem of finite basic hoops ([4], Corollary 2.10) one obtains an elegant short proof of the completeness theorem for propositional basic logic (see [4], Theorem 3.8), introduced by Hájek in [10].

DOI: 10.21136/MB.2019.0140-17

The algebraic structures corresponding to Hájek's propositional (fuzzy) basic logic, BL-algebras, are particular cases of hoops. The main example of BL-algebras in interval [0, 1] endowed with the structure induced by a t-norm. MV-algebras, product algebras and Gödel algebras are the best known classes of BL-algebras. Recent investigations are concerned with non-commutative generalizations for these structures. The filter theory plays an important role in studying these algebras. From the logic point of view, various filters have natural interpretation as various sets of provable formulas. At present, the filter theory of hoops has been widely studied and some important results are obtained. In particular, some types of filters such as (positive) implicative filters and fantastic filters (see [3]) were introduced and some of their characterizations were presented in [1], [2], [13], [11]. In MV-algebras, filters and ideals are dual notions, also we have to remark that residuated lattices and hoops are incomparable. Indeed, not all hoops are residuated lattices. It is noticeable that a hoop is a meet semi-lattice one with respect to the meet operator  $a \wedge b = a \odot (a \rightarrow b)$ but it has not a lattice structure. So, in this paper we claim that the notion of ideals is missing in hoops. For this reason, in this paper, we define and characterize ideal, implicative, maximal and prime ideals notions in hoops. Then we investigate the relation between them and prove that every maximal implicative ideal of a  $\vee$ -hoop with double negation property is a prime one. Also, we define a congruence relation on a hoop by ideals and study the quotient that is made by it. This notion helps us to show that an ideal is maximal if and only if the quotient hoop is a simple MValgebra. Also, we investigate the relationship between ideals and filters by exploiting the set of complements.

# 2. Preliminaries

First we recall the definition of a hoop. By a *hoop* we mean an algebraic structure  $(A, \odot, \rightarrow, 1)$  where, for all  $x, y, z \in A$ :

- (HP1)  $(A, \odot, 1)$  is a commutative monoid;
- (HP2)  $x \to x = 1;$
- (HP3)  $(x \odot y) \rightarrow z = x \rightarrow (y \rightarrow z);$
- (HP4)  $x \odot (x \to y) = y \odot (y \to x).$

On a hoop A we define  $x \leq y$  if and only if  $x \to y = 1$ . It is easy to see that  $\leq$  is a partial order relation on A. A hoop A is *bounded* if there is an element  $0 \in A$  such that  $0 \leq x$  for all  $x \in A$ . Let A be a bounded hoop. We define negation "'" on A by  $x' = x \to 0$  for all  $x \in A$ . If x'' = x for all  $x \in A$ , then the bounded hoop A is said to have the *double negation property*, or (DNP), for short. Suppose A is a hoop such that for any  $x, y \in A$ , we have  $x \lor y = ((x \to y) \to y) \land ((y \to x) \to x)$ . If  $\lor$  is a join operation on A, then the hoop A is called a  $\lor$ -hoop, which is a distributive lattice. The following proposition provides some properties of hoops.

**Proposition 2.1** ([5], [6]). Let  $(A, \odot, \rightarrow, 1)$  be a hoop. Then the following conditions hold, for all  $x, y, z, a \in A$ :

- (i)  $(A, \leq)$  is a meet-semilattice, with  $x \wedge y = x \odot (x \to y)$ ;
- (ii)  $x \odot y \leq z$  if and only if  $x \leq y \rightarrow z$ ;
- (iii)  $x \odot y \leq x, y$  and  $x \leq y \to x;$
- (iv)  $x \to x = 1$  and  $1 \to x = x$ ;
- (v)  $x \leq y \to (x \odot y);$
- (vi)  $x \to y \leq (y \to z) \to (x \to z);$
- (vii)  $x \leq y$  implies  $x \odot a \leq y \odot a$ ,  $z \to x \leq z \to y$  and  $y \to z \leq x \to z$ ;
- (viii) if A is a bounded hoop, then  $x \leq x'', x \odot x' = 0$  and x''' = x';
- (ix) if A is a  $\vee$ -hoop, then for any  $n \in \mathbb{N}$ ,  $(x \vee y)^n \to z = \{(a_1 \odot a_2 \odot \ldots \odot a_n) \to z : a_i \in \{x, y\}\};$
- (x) if A is a  $\lor$ -hoop, then  $x \odot (y \lor z) = (x \odot y) \lor (x \odot z)$ .

A nonempty subset F of A is a filter of A if (F1):  $x, y \in F$  implies  $x \odot y \in F$ and (F2):  $x \in F$  and  $x \leq y$  imply  $y \in F$  for any  $x, y \in A$ . The set of all filters in a hoop A is denoted by  $\mathcal{F}(A)$ . F is a proper filter of a hoop A if F is a filter of Aand  $F \neq A$ . If A is a hoop and  $\emptyset \neq X \subseteq A$ , then the intersection of all filters of Acontaining X is denoted by  $\langle X \rangle$  and is characterized by

$$\langle X \rangle = \{ a \in A \colon x_1 \odot x_2 \odot \ldots \odot x_n \leqslant a \text{ for some } n \in \mathbb{N} \text{ and } x_1, \ldots, x_n \in X \}$$
$$= \{ a \in A \colon x_1 \to (x_2 \to (\ldots \to (x_n \to a) \ldots)) = 1$$
for some  $n \in \mathbb{N}, x_1, \ldots, x_n \in X \}.$ 

In particular, for any element  $x \in A$  we have

 $\langle x \rangle = \{ a \in A \colon x^n \leq a \text{ for some } n \in \mathbb{N} \} = \{ a \in A \colon x^n \to a = 1 \text{ for some } n \in \mathbb{N} \}.$ 

Let A and B be two hoops. A map  $\varphi \colon A \to B$  is called a *homomorphism* if for all  $x, y \in A$  we have  $\varphi(1) = 1$ ,  $\varphi(x \odot y) = \varphi(x) \odot \varphi(y)$  and  $\varphi(x \to y) = \varphi(x) \to \varphi(y)$ . If A and B are two bounded hoops, then  $\varphi(0) = 0$  (see [3], [4], [5]).

**Definition 2.2** ([3]). Let F be a nonempty subset of a hoop A. Then F is called a *positive implicative filter* of A if:

$$\begin{array}{ll} (\text{PIF 1}) \ 1 \in F; \\ (\text{PIF 2}) \ (x \odot y) \rightarrow z \in F \ \text{and} \ x \rightarrow y \in F \ \text{imply} \ x \rightarrow z \in F \ \text{for any} \ x, y, z \in A. \end{array}$$

N ot at i on. From now on, in this paper,  $(A, \odot, \rightarrow, 0, 1)$  or simply A is a bounded hoop, unless otherwise stated.

# 3. Ideal in hoops

In this section, we introduce the notion of an ideal in a hoop and investigate some of its properties.

**Definition 3.1.** Let I be a nonempty subset of A. I is called an *ideal* of A if it satisfies the following conditions:

- (I1)  $0 \in I$ ,
- (I2) for any  $x, y \in I, x' \to y \in I$ ,

(I3) for any  $x, y \in A$ , if  $x \leq y$  and  $y \in I$ , then  $x \in I$ .

It is clear that A and  $\{0\}$  are the trivial ideals of A. The set of all ideals of A is denoted by  $\mathcal{ID}(A)$ . I is called a *proper ideal* if I is an ideal of A and  $I \neq A$ . It can be easily seen that an ideal I is proper if and only if it is not containing 1.

Example 3.2. Let  $A = \{0, a, b, c, d, 1\}$ . We define two operations  $\odot$  and  $\rightarrow$  on A as follows:

$\rightarrow$	0	a	b	c	d	1	$\odot$	0	a	b	c	d	1
0	1	1	1	1	1	1	0	0	0	0	0	0	0
a	d	1	d	1	d	1	a	0	a	0	a	0	a
b	c	c	1	1	1	1	b	0	0	0	0	b	b
c	b	c	d	1	d	1	c	0	a	0	a	b	c
d	a	a	b	c	1	1	d	0	0	b	b	d	d
1	0	a	b	c	d	1	1	0	a	b	c	d	1

Routine calculations show that A is a bounded hoop. It is easy to see that  $I = \{0, a\} \in \mathcal{ID}(A)$ .



Figure 1. The Hasse diagram of A.

Let  $\{I_{\lambda}: \lambda \in \Delta\}$  be a family of ideals in A. Then it is easy to see that  $\bigcap_{\lambda \in \Delta} I_{\lambda}$  is an ideal of A but  $\bigcup_{\lambda \in \Delta} I_{\lambda}$  is not an ideal of A, in general. Example 3.3. Let  $A = \{0, a, b, 1\}$ . We define two operations  $\odot$  and  $\rightarrow$  on A as follows:

$\odot$	0	a	b	1	$\rightarrow$	0	a	b	1
0	0	0	0	0	0	1	1	1	1
a	0	a	0	a	a	b	1	b	1
b	0	0	b	b	b	a	a	1	1
1	0	a	b	1	1	0	a	b	1

By routine calculations, A with these operations is a bounded hoop. It is easy to see that  $I_1 = \{0, a\}$  and  $I_2 = \{0, b\}$  are two ideals of A, but  $I_3 = I_1 \cup I_2 = \{0, a, b\}$  is not an ideal of A, because  $a \ominus b = a' \rightarrow b = b \rightarrow b = 1 \notin I_3$ .



Figure 2. The Hasse diagram of A.

Notation. For any  $x, y \in A$ , we define  $x \ominus y = x' \to y$ . Easily by an example we see that the operation  $\ominus$  is not associative, but by adding (DNP) condition to hoop A, the operation  $\ominus$  is associative, because since y'' = y, we have

$$(x \ominus y) \ominus z = (x' \to y)' \to z = (x' \to y'')' \to z = ((x' \odot y') \to 0)' \to z$$
$$= (x' \odot y')'' \to z = (x' \odot y') \to z = x' \to (y' \to z) = x \ominus (y \ominus z).$$

R e m a r k 3.4. Let  $I \in \mathcal{ID}(A)$ . Then for any  $x \in A$ ,  $x \in I$  if and only if  $x'' \in I$ . By Proposition 2.1 (viii) and (I3), if  $x'' \in I$ , then it is easy to see that  $x \in I$ . Let  $x \in I$ , since  $0 \in I$ , by (I2),  $x'' = x \ominus 0 \in I$ .

**Proposition 3.5.** Let *I* be a nonempty subset of *A*. Then, for any  $x, y \in A$ , the following statements are equivalent:

(i)  $I \in \mathcal{ID}(A)$ ,

(ii)  $0 \in I$ ; for any  $x, y \in I$ ,  $x \ominus y \in I$  and if  $x' \odot y \in I$  and  $x \in I$ , then  $y \in I$ .

(iii)  $0 \in I$ ; for any  $x, y \in I$ ,  $x \ominus y \in I$  and if  $(x' \to y')' \in I$  and  $x \in I$ , then  $y \in I$ .

Proof. (i)  $\Rightarrow$  (ii): Let  $I \in \mathcal{ID}(A)$ . Then by Definition 3.1,  $0 \in I$  and, for any  $x, y \in I, x \ominus y \in I$ . Now, suppose for any  $x, y \in A, x' \odot y \in I$  and  $x \in I$ . Since  $x' \odot y \leqslant x' \odot y$ , by Proposition 2.1 (ii),  $y \leqslant x' \to (x' \odot y)$ . Also, since  $x' \odot y \in I$  and  $x \in I$ , by (I2),  $x' \to (x' \odot y) \in I$ . Thus, by (I3),  $y \in I$ .

(ii)  $\Rightarrow$  (iii): Suppose  $x \leq y$  and  $y \in I$ . Then by Proposition 2.1 (vii),  $y' \leq x'$ , and so  $(y' \to x')' = 0$ . Hence, by (HP3) and Proposition 2.1 (viii),  $y' \odot x \leq (y' \odot x)'' = 0$ ,

and so  $y' \odot x = 0 \in I$ . Since  $y \in I$ , by (ii),  $x \in I$ . Now, let  $(x' \to y')' \in I$  and  $x \in I$  for any  $x, y \in A$ . By Proposition 2.1 (vii),  $x' \odot y \leq (x' \odot y)'' = ((x' \odot y)')' = (x' \to y')'$ . Then  $x' \odot y \in I$ . Since  $x \in I$ , by (ii),  $y \in I$ .

(iii)  $\Rightarrow$  (i): It is clear that conditions (I1) and (I2) hold. Let, for any  $x, y \in A$ ,  $x \leq y$  and  $y \in I$ . By Proposition 2.1 (vii),  $y' \leq x'$ . Then  $y' \rightarrow x' = 1$ , and so  $(y' \rightarrow x')' = 0 \in I$ . Since  $y \in I$ , by (iii),  $x \in I$ . Hence,  $I \in \mathcal{ID}(A)$ .

In what follows, we investigate the relation between filters and ideals in any hoop A. For this, for any  $\emptyset \neq X \subseteq A$ , we define  $X' = \{x \in A : x' \in X\}$ .

# **Proposition 3.6.** If A has (DNP), then $I \in \mathcal{ID}(A)$ if and only if $I' = F \in \mathcal{F}(A)$ .

Proof. ( $\Rightarrow$ ) Let  $I \in \mathcal{ID}(A)$  and F = I'. Since  $0 \in I$ , we get that  $1 \in F$ . Suppose  $x, y \in F$ . Then  $x', y' \in I$ . Thus,  $(x \odot y)' \odot x' \odot y' \leqslant y' \in I$ , since  $I \in \mathcal{ID}(A)$ , we have  $(x \odot y)' \odot x' \odot y' \in I$ . Hence,  $(x \odot y)' \in I$ , and so  $x \odot y \in F$ . Now, suppose  $x \leqslant y$  and  $x \in F$ . Then  $x' \in I$  and by Proposition 2.1 (vii),  $y' \leqslant x'$ . Since  $I \in \mathcal{ID}(A)$  and  $x' \in I$ , we get  $y' \in I$ , and so  $y \in F$ .

 $(\Leftarrow)$  Let  $F \in \mathcal{F}(A)$  and I = F'. Since  $1 \in F$ , we have  $0 \in I$ . Let  $x \leq y$  and  $y \in I$ . Then  $y' \leq x'$  and  $y' \in F$ . Since  $F \in \mathcal{F}(A)$ , we have  $x' \in F$  and so  $x'' \in I$ . Hence,  $x \in I$ . Suppose  $x, y \in I$ . Then  $x', y' \in F$ . By Proposition 2.1 (viii),

$$(x' \odot y') \rightarrow (x' \rightarrow y)' = (x' \rightarrow y) \rightarrow ((x' \odot y') \rightarrow 0) = (x' \rightarrow y) \rightarrow (x' \rightarrow y'') = 1.$$

Hence,  $(x' \odot y') \leq (x' \to y)'$ . Since  $F \in \mathcal{F}(A)$  and  $x' \odot y' \in F$ , we have  $(x' \to y)' \in F$ , and so  $(x' \to y)'' \in I$ . Then  $x' \to y \in I$ .

In the following example, we show that the condition (DNP) is necessary.

Example 3.7. Let  $A = \{0, a, b, c, d, e, f, 1\}$ . Define two operations  $\odot$  and  $\rightarrow$  on A as follows:

$\rightarrow$	0	a	b	c	d	e	f	1	$\odot$	0	a	b	c	d	e	f	1
0	1	1	1	1	1	1	1	1	0	0	0	0	0	0	0	0	0
a	d	1	1	1	d	1	1	1	a	0	a	a	a	0	a	a	a
b	d	f	1	1	d	f	1	1	b	0	a	a	b	0	a	a	b
c	d	e	f	1	d	e	f	1	c	0	a	b	c	0	a	b	c
d	c	c	c	c	1	1	1	1	d	0	0	0	0	d	d	d	d
e	0	c	c	c	d	1	1	1	e	0	a	a	a	d	e	e	e
f	0	b	c	c	d	f	1	1	f	0	a	a	b	d	e	e	f
1	0	a	b	c	d	e	f	1	1	0	a	b	c	d	e	f	1

By routine calculation, we can see that A with these operations is a bounded hoop. Then it is easy to show that  $I = \{0, a, b, c\} \in \mathcal{ID}(A)$ , but  $I' = \{1, d\} \notin \mathcal{F}(A)$  because  $d \leq e, f$  and  $e, f \notin F$ .



Figure 3. The Hasse diagram of A.

By Proposition 3.6 and Example 3.7, we can see that in hoops the notion of ideals is missing and filters and ideals are not dual notions, in general, except in a hoop with (DNP). So, the condition (DNP) is necessary.

**Proposition 3.8.** Let A be a bounded  $\vee$ -hoop and  $I \in \mathcal{ID}(A)$ . Then for any  $x, y \in A$ , the following statements hold:

(i)  $x, y \in I$  if and only if  $x \lor y \in I$ ;

(ii) if  $x, y \in I$ , then  $x \wedge y \in I$ .

Proof. Let  $I \in \mathcal{ID}(A)$ . By Proposition 2.1 (iii),  $x \wedge y \leq x, y \leq x \vee y$ . If  $x, y \in I$  or  $x \vee y \in I$ , then by (I3) it is clear that  $x \wedge y \in I$  or  $x, y \in I$ , respectively. Now, suppose  $x, y \in I$ . Then by Proposition 2.1 (x) and (viii),  $x' \odot (x \vee y) = (x' \odot x) \vee (x' \odot y) = x' \odot y$ . Since  $x' \odot y \leq y, y \in I$  and  $I \in \mathcal{ID}(A)$ , we get  $x' \odot y \in I$ , so  $x' \odot (x \vee y) \in I$ . Since  $x \in I$  and  $I \in \mathcal{ID}(A)$ , by Proposition 3.5,  $x \vee y \in I$ .  $\Box$ 

In the following example, we show that the converse of Proposition 3.8 (ii) may not be true, in general.

Example 3.9. According to Example 3.2,  $I = \{0, a\} \in \mathcal{ID}(A)$  and  $a \wedge b = a \odot (a \to b) = a \odot d = 0 \in I$  but  $b \notin I$ .

**Proposition 3.10.** Let I be a subset of a hoop A such that  $0 \in I$ . Then the following conditions are equivalent:

- (i)  $I \in \mathcal{ID}(A);$
- (ii)  $L(x,y) = \{z \in A \colon z \odot x' \leq y\} \subseteq I \text{ for any } x, y \in I;$

(iii) if  $(z \odot x') \odot y' = 0$ , then  $z \in I$  for any  $z \in A$  and  $x, y \in I$ .

Proof. (i)  $\Rightarrow$  (ii): Let  $a \in L(x, y)$ . Then  $a \odot x' \leq y$ . Since  $y \in I$  and  $I \in \mathcal{ID}(A)$ ,  $a \odot x' \in I$ . Now, by Proposition 3.5, since  $x \in I$  and  $I \in \mathcal{ID}(A)$ , we get  $a \in I$ .

(ii)  $\Rightarrow$  (iii): Let  $x, y \in I$  and  $(z \odot x') \odot y' = 0$ . Since  $0, y \in I$  and  $(z \odot x') \odot y' \leq 0$ , by (ii), we get  $z \odot x' \in L(0, y) \subseteq I$ , and so  $z \odot x' \in I$ . Moreover, since  $z \odot x' \leq z \odot x'$ and  $z \odot x', x \in I$ , by (ii),  $z \in L(z \odot x', x) \subseteq I$ . Hence,  $z \in I$ . (iii)  $\Rightarrow$  (i): By assumption,  $0 \in I$ . Let  $x, y \in I$ . Then by Proposition 2.1 (ii), (vii) and (viii),  $(x' \to y) \odot x' \odot y' \leq y \odot y' = 0$ , and so by (iii),  $x' \to y \in I$ . Now, suppose  $x' \odot y \in I$  and  $x \in I$ . Then by Proposition 2.1 (viii),  $(y \odot x') \odot (x' \odot y)' = 0$ , and so by (iii),  $y \in I$ . Hence,  $I \in \mathcal{ID}(A)$ .

**Proposition 3.11.** Let *I* be a nonempty subset of *A*. Then for any  $x, y, z \in A$ , the following conditions are equivalent:

(i) if  $I \in \mathcal{ID}(A)$  and  $x \odot (y \odot x')' \in I$ , then  $x \in I$ ;

(ii) if  $0 \in I$ ,  $(x \odot (y \odot x')') \odot z' \in I$  and  $z \in I$ , then  $x \in I$ .

Proof. (i)  $\Rightarrow$  (ii): Since  $I \in \mathcal{ID}(A)$ , it is clear that  $0 \in I$  and if  $(x \odot (y \odot x')') \odot z' \in I$  and  $z \in I$ , then by (I2),  $x \odot (y \odot x')' \in I$ . Thus, by (i),  $x \in I$ .

(ii)  $\Rightarrow$  (i): First we prove that  $I \in \mathcal{ID}(A)$ . For this, suppose  $x \odot y' \in I$  and  $y \in I$ . Then  $(x \odot (0 \odot x')') \odot y' = x \odot y' \in I$ , and so by (ii),  $x \in I$ . Now, let  $x, y \in I$ . Then

$$((x' \to y) \odot (0 \odot (x' \to y)')') \odot y' \odot x' \leqslant x'' \odot x' = 0 \in I.$$

Since  $x \in I$ , by (ii),  $(x' \to y) \odot y' \in I$ . Also, from  $y \in I$ , we have  $x' \to y \in I$ . Hence,  $I \in \mathcal{ID}(A)$ . Now, suppose  $x \odot (y \odot x')' \in I$ . By considering z = 0 in (ii), we get  $x \in I$ .

**Definition 3.12.** Let  $\emptyset \neq X \subseteq A$ . We recall that the smallest ideal containing X in A is called the *ideal generated by* X in A and is denoted by (X]. It is also the intersection of all ideals of A containing X.

**Theorem 3.13.** Let  $\emptyset \neq X \subseteq A$ . Then

$$(X] = \{ a \in A \colon \exists n \in \mathbb{N} \colon a \leq x_1 \ominus (x_2 \ominus \ldots \ominus (x_{n-1} \ominus x_n) \ldots)$$
  
for  $x_1, x_2, \ldots, x_n \in X \}.$ 

 $(x_1 \ominus (x_2 \ominus \ldots \ominus (x_{n-1} \ominus x_n) \ldots))' \to b$ . Since  $b \leq y_1 \ominus (y_2 \ominus \ldots \ominus (y_{m-1} \ominus y_m) \ldots)$ , by Proposition 2.1 (vii),

$$(x_1 \ominus (\ldots \ominus (x_{n-1} \ominus x_n) \ldots))' \to b \leqslant (x_1 \ominus (\ldots \ominus \ldots \ominus (x_{n-1} \ominus x_n) \ldots))'$$
$$\to (y_1 \ominus \ldots \ominus \ldots \ominus (y_{m-1} \ominus y_m) \ldots)).$$

Then  $a' \to b \leq (x_1 \ominus (x_2 \ominus \ldots \ominus (x_{n-1} \ominus x_n) \ldots))' \to (y_1 \ominus (y_2 \ominus \ldots \ominus (y_{m-1} \ominus y_m) \ldots)),$ and so  $a \ominus b \leq x_1 \ominus (x_2 \ominus \ldots \ominus x_n \ominus y_1 \ominus y_2 \ominus \ldots (y_{m-1} \ominus y_m) \ldots)$ . Thus,  $a \ominus b \in B$ . Hence, B is an ideal of A. It is clear that  $X \subseteq B$ , because, for any  $x, y \in X$ , by Proposition 2.1 (iii),  $x \leq y' \to x = y \ominus x$ . Hence,  $x \in B$ . Now, let there exist  $C \in \mathcal{ID}(A)$  such that  $X \subseteq C$ . It is enough to prove that  $B \subseteq C$ . Let  $a \in B$ . Then there exists  $n \in \mathbb{N}$  such that for  $x_1, x_2, \ldots, x_n \in X$ , we have  $a \leq x_1 \ominus (x_2 \ominus \ldots \ominus (x_{n-1} \ominus x_n) \ldots)$ . Since  $X \subseteq C$  and  $C \in \mathcal{ID}(A)$ , by (I2),  $x_1 \ominus (x_2 \ominus \ldots \ominus (x_{n-1} \ominus x_n) \ldots) \in C$ , and so by (I3),  $a \in C$ . Hence, B is the smallest ideal of A containing X. Therefore, B = (X].

Notation. Consider  $a \ominus (a \ominus \ldots \ominus (a \ominus a) \ldots) = na = (a')^{n-1} \rightarrow a$ . If A has (DNP), then  $x \ominus y = y \ominus x$  and  $na = ((a')^n)'$ .

**Proposition 3.14.** Let  $I \in \mathcal{ID}(A)$  and  $a \in A$ . Then the following statements hold:

(i)  $(a] = \{x \in A \colon \exists n \in \mathbb{N} \colon x \leq na\};$ 

(ii) if A is a hoop with (DNP), then  $(I \cup \{a\}] = \{x \in A: \exists n \in \mathbb{N}: x \odot (na)' \in I\};$ (iii) if A is a  $\lor$ -hoop with (DNP), then  $(I \cup \{x\}] \cap (I \cup \{y\}] = (I \cup \{x \land y\}].$ 

Proof. (i) Let  $B = \{x \in A: \exists n \in \mathbb{N}: x \leq na\}$ . Then we prove that B is the smallest ideal of A generated by a. For this, we show that B is an ideal of A. Since  $0 \leq a \ominus a = 2a$ , it is clear that  $0 \in B$ . Let  $x \leq y$  for  $x, y \in A$  and  $y \in B$ . Then there exists  $n \in \mathbb{N}$  such that  $x \leq y \leq na$ . So,  $x \in B$ . Now, suppose  $x, y \in B$ . Then there exist  $n, m \in \mathbb{N}$  such that  $x \leq na$  and  $y \leq ma$ , and so  $x \leq (a')^{n-1} \to a$  and  $y \leq (a')^{m-1} \to a$ . By Proposition 2.1 (vii),  $((a')^{n-1} \to a)' \leq x'$  and  $x' \to y \leq ((a')^{n-1} \to a)' \to y$ . Also,

$$((a')^{n-1} \rightarrow a)' \rightarrow y \leqslant ((a')^{n-1} \rightarrow a)' \rightarrow ((a')^{m-1} \rightarrow a)$$

and so,

$$x' \to y \leqslant ((a')^{n-1} \to a)' \to y \leqslant ((a')^{n-1} \to a)' \to ((a')^{m-1} \to a).$$

Hence,

$$x' \to y \leqslant ((a')^{n-1} \to a)' \to ((a')^{m-1} \to a) = na \ominus ma = (n+m)a.$$

Thus,  $x \ominus y \in B$ . On the other hand, by Proposition 2.1 (viii),  $a \leq a' \rightarrow a = a \ominus a$ , and so *B* is an ideal of *A* containing *a*. Suppose *C* is an ideal of *A* containing *a*. Let  $x \in B$ . Then there exists  $n \in \mathbb{N}$  such that  $x \leq na$ . Since  $a \in C$  and  $C \in \mathcal{ID}(A)$ , hence  $na \in C$ , and so  $x \in C$ . Hence,  $B \subseteq C$ . Therefore,  $(a] = \{x \in A : \exists n \in \mathbb{N} : x \leq na\}$ .

(ii) Let  $E = \{x \in A : \exists n \in \mathbb{N} : x \odot (na)' \in I\}$ . Since  $a \odot a' = 0 \in I$  and for any  $x \in I$ ,  $x \odot a' \leq x \in I$  and  $I \in \mathcal{ID}(A)$ , so it is clear that  $I \cup \{a\} \subseteq E$ . Let  $x, y \in E$ . Then there exist  $n, m \in \mathbb{N}$  such that  $x \odot (na)' \in I$  and  $y \odot (ma)' \in I$ . Thus, there exist  $\alpha, \beta \in I$  such that  $x \odot (na)' \leq \alpha$  and  $y \odot (ma)' \leq \beta$ . Hence, by (HP3),  $x \leq (na)' \to \alpha$  and  $y \leq (ma)' \to \beta$ . Then by Proposition 2.1 (vii),

$$x' \to y \leqslant ((na)' \to \alpha)' \to y \leqslant ((na)' \to \alpha)' \to ((ma)' \to \beta)' = (na) \ominus \alpha \ominus (ma) \ominus \beta.$$

Since A has (DNP), we get that  $(x' \to y) \odot ((n+m)a)' \leq \alpha \ominus \beta \in I$ . The proof of the other cases is similar to (i).

(iii) By definition of  $\ominus$ , it is easy to see that  $a \odot (nx)' = a \odot (x')^n$ . Suppose  $a \in (I \cup \{x \land y\}]$ . Then there exists  $n \in \mathbb{N}$  such that  $a \odot (n(x \land y))' \in I$ . Thus, by Proposition 2.1 (ii), (vii) and (DNP), we have,

$$a \odot (n(x \land y))' = a \odot ((x \land y)')^n \ge a \odot (x')^n, \quad a \odot (y')^n = a \odot (nx)' \text{ and } a \odot (ny)'.$$

Then  $a \in (I \cup \{x\}] \cap (I \cup \{y\}]$ , and so  $(I \cup \{x \land y\}] \subseteq (I \cup \{x\}] \cap (I \cup \{y\}]$ . Conversely, let  $a \in (I \cup \{x\}] \cap (I \cup \{y\}]$ . Then there exist  $n, m \in \mathbb{N}$  such that  $a \odot (nx)'$  and  $a \odot (my)' \in I$ , and so  $a \odot (x')^n$  and  $a \odot (y')^m \in I$ . Let  $U = a \odot (x')^n$  and  $V = a \odot (y')^m$ . Then by (HP3),  $U' = (a \odot (x')^n)' = (x')^n \to a'$  and  $V' = (a \odot (y')^m)' = (y')^m \to a'$ . By routine calculations, we can see that,

$$(x')^n \to (V' \to (U' \to a')) = 1 \quad \text{and} \quad (y')^m \to (V' \to (U' \to a')) = 1.$$

Then by Proposition 2.1 (ix), there exists  $p \in \mathbb{N}$  such that

$$\begin{aligned} [(x \wedge y)']^p &\to (V' \to (U' \to a')) \\ &= (x' \vee y')^p \to (V' \to (U' \to a')) \\ &= \bigwedge \{(a_1 \odot \ldots \odot a_p) \to (V' \to (U' \to a')) \colon a_i \in \{x', y'\}\} = 1. \end{aligned}$$

Hence,  $a \in (I \cup \{x \land y\}]$ .

**Proposition 3.15.** Let  $\varphi$ :  $A \to B$  be a hoop homomorphism. Then the following statements hold:

(i) if  $\varphi$  is an epimorphism and  $I \in \mathcal{ID}(B)$ , then  $\varphi^{-1}(I) \in \mathcal{ID}(A)$ ;

(ii) if  $\varphi$  is an isomorphism and  $I \in \mathcal{ID}(A)$ , then  $\varphi(I) \in \mathcal{ID}(B)$ ;

(iii) if ker  $\varphi = \{x \in A : \varphi(x) = 0\}$ , then ker  $\varphi \in \mathcal{ID}(A)$ .

Proof. (i) Let  $I \in \mathcal{ID}(B)$ . Since  $\varphi(0) = 0 \in I$ , we have  $0 \in \varphi^{-1}(I)$ . Suppose  $x \leq y$  and  $y \in \varphi^{-1}(I)$ . Then  $\varphi(y) \in I$ . Since  $x \to y = 1$  and  $\varphi$  is a homomorphism, we obtain that  $\varphi(x) \leq \varphi(y)$ , thus,  $\varphi(x) \in I$ , and so  $x \in \varphi^{-1}(I)$ . Let  $x, y \in \varphi^{-1}(I)$ . Then  $\varphi(x), \varphi(y) \in I$ . Since  $I \in \mathcal{ID}(B), \varphi(x' \to y) = \varphi'(x) \to \varphi(y) \in I$ . Thus,  $x' \to y \in \varphi^{-1}(I)$  and so  $\varphi^{-1}(I) \in \mathcal{ID}(A)$ .

(ii) Let  $I \in \mathcal{ID}(A)$ . It is clear that  $0 \in \varphi(I)$ . Let  $x \leq y$  and  $y \in \varphi(I)$ . Since  $y \in \varphi(I)$ , there exists  $a \in I$  such that  $\varphi(a) = y$ . Since  $x = \varphi(b) \leq \varphi(a) = y$ , we have  $1 = \varphi(1) = \varphi(b \to a) = \varphi(b) \to \varphi(a)$ . From the fact that  $\varphi$  is an isomorphism, we get  $b \leq a$ . Moreover, since  $I \in \mathcal{ID}(A)$  and  $a \in I$ , we obtain  $b \in I$ , and so  $x = \varphi(b) \in \varphi(I)$ . Now, suppose  $x, y \in \varphi(I)$ . Then there exist  $a, b \in I$  such that  $\varphi(a) = x$  and  $\varphi(b) = y$ . Since  $I \in \mathcal{ID}(A)$ ,  $a' \to b \in I$ , and so  $x' \to y = \varphi'(a) \to \varphi(b) \in \varphi(I)$ . Hence,  $\varphi(I) \in \mathcal{ID}(B)$ .

(iii) Let  $\ker \varphi = \{x \in A : \varphi(x) = 0\}$ . Since  $\varphi(0) = 0$ , we have  $0 \in \ker \varphi$ , and so  $\ker \varphi \neq \emptyset$ . Suppose  $x, y \in \ker \varphi$ . Then  $\varphi(x) = \varphi(y) = 0$ , and so  $\varphi(x' \to y) = \varphi'(x) \to \varphi(y) = 0' \to 0 = 0$ . Hence,  $x' \to y \in \ker \varphi$ . Let  $x \leq y$  and  $y \in \ker \varphi$ . Since  $\varphi$  is monotone,  $\varphi(x) \leq \varphi(y) = 0$ . Then  $\varphi(x) = 0$  and so  $x \in \ker \varphi$ . Hence,  $\ker \varphi \in \mathcal{ID}(A)$ .

Let A be a hoop with (DNP) and I an ideal of A. Define the relation  $\sim_I$  on A by  $x \sim_I y$  if and only if  $x' \odot y \in I$  and  $y' \odot x \in I$  for any  $x, y \in A$ . Similarly to the proof of [7], Theorem 4.2 and Proposition 4.3, we can see that  $\sim_I$  is a congruence relation on A. For any  $x \in A$ , we denote by x/I the equivalence class of x, that is,  $x/I = \{y \in A : x \sim_I y\}$ . Let  $A/I = \{x/I : x \in A\}$  and we define on the set A/I the operations

$$\begin{aligned} x/I \otimes y/I &= (x \odot y)/I, \quad x/I \rightsquigarrow y/I = (x \to y)/I, \quad 0/I = I, \\ \text{and} \quad 1/I &= \{x' \in I \colon x \in A\}. \end{aligned}$$

Also, we define a partial order on A/I by  $x/I \leq y/I$  if and only if  $x' \odot y \in I$ . Then by routine calculation we can prove that  $(A/I, \otimes, \rightsquigarrow, 0/I, 1/I)$  is a hoop.

Notation. The quotient hoop via any ideal is always an MV-algebra, because by Proposition 2.1 (viii),  $x \odot (x'')' = x \odot x' = 0 \in I$  and  $x'' \odot x' = 0$ . Then  $x \sim x''$ , and so x/I = x''/I.

#### 4. Implicative ideal in hoops

In this section, we introduce the notion of an implicative ideal in hoops and investigate some of its properties. Then we study the quotient structures that are made by an implicative ideal. **Definition 4.1.** Let  $\emptyset \neq I \subseteq A$ . Then *I* is called an *implicative ideal* of *A* if for any  $x, y, z \in A$  it satisfies the following conditions:

(IM1)  $0 \in I$ ; (IM2) if  $x, y \in I$ , then  $x \ominus y \in I$ ; (IM3) if  $x \odot y' \odot z' \in I$  and  $y \odot z' \in I$ , then  $x \odot z' \in I$ .

E x a m p l e 4.2. According to Example 3.7, it is easy to check that  $I = \{0, a, b, c\}$  is an implicative ideal of A.

**Proposition 4.3.** If A has (DNP), then I is an implicative ideal if and only if I' = F is a positive implicative filter of A.

Proof. Proof is similar to the proof of Proposition 3.6.  $\Box$ 

**Theorem 4.4.** Every implicative ideal of A is an ideal of A.

Proof. Suppose *I* is an implicative ideal of *A* and  $x \leq y$  such that  $y \in I$ . Then  $x \to y = 1$ . By Proposition 2.1 (vii) and (viii),  $x \to y \leq x \to y'' = (x \odot y')'$ . Thus,  $(x \odot y')' = 1$ , and so  $(x \odot y')'' = 0 \in I$ . Since  $x \odot y' \leq (x \odot y')''$ , we get that  $x \odot y' = 0 \in I$ . Let z = 0. Then  $x \odot y' \odot z' = x \odot y' = 0 \in I$  and  $y \odot z' = y \in I$ . Since *I* is an implicative ideal of *A*,  $x \odot z' = x \in I$ . Hence,  $I \in \mathcal{ID}(A)$ .

By the following example we show that the converse of the above theorem may not be true, in general.

Example 4.5. In Example 3.2,  $I = \{0, a\}$  is an ideal of A. But it is not an implicative ideal of A. Because if we let x = 1, y = c and z = b, then  $x \odot y' \odot z' = b \odot c = 0 \in I$ . Also,  $y \odot z' = c \odot c = a \in I$ , but  $x \odot z' = c \notin I$ .

**Proposition 4.6.** Let  $I \in ID(A)$ . Then for any  $x, y \in A$ , the following statements are equivalent:

(i) I is an implicative ideal;

(ii) if  $x \odot y'' \odot y'' \in I$ , then  $x \odot y \in I$ ;

- (iii) if  $x^2 \in I$ , then  $x \in I$ ;
- (iv)  $\{x \in A : x^2 = 0\} \subseteq I$ .

Proof. (i)  $\Rightarrow$  (ii): Let  $x \odot y'' \odot y'' \in I$ . Since *I* is an implicative ideal of *A* and by Proposition 2.1 (vii),  $y' \odot y'' = 0 \in I$ , we get  $x \odot y'' \in I$ . From  $x \odot y \leq x \odot y''$ and  $I \in \mathcal{ID}(A)$ , we get  $x \odot y \in I$ .

(ii)  $\Rightarrow$  (i): Let  $x \odot y' \odot z' \in I$  and  $y \odot z' \in I$  for any  $x, y, z \in A$ . Then by Proposition 2.1 (vii),  $(x \odot z' \odot z') \odot (y \odot z')' = (x \odot z' \odot z') \odot (z' \to y') \leq x \odot z' \odot y'$ . Since  $I \in \mathcal{ID}(A)$  and  $x \odot y' \odot z' \in I$ , we get that  $(x \odot z' \odot z') \odot (y \odot z')' \in I$ . Then by Propositions 3.5 and 2.1 (viii),  $x \odot (z')'' \odot (z')'' = x \odot z' \odot z' \in I$ . Thus, by (ii),  $x \odot z' \in I$ . Hence, I is an implicative ideal of A.

(ii)  $\Rightarrow$  (iii): Let  $x^2 \in I$ . Since  $I \in \mathcal{ID}(A)$ , by Remark 3.4,  $(x^2)'' \in I$ . By Proposition 2.1 (viii), we have

$$\begin{aligned} (x'' \odot x'') &\to (x^2)'' = (x'' \odot x'') \to ((x^2)' \to 0) \\ &= x'' \to (x'' \to ((x^2)' \to 0)) \\ &= x'' \to ((x^2)' \to x') \\ &= (x^2)' \to (x'' \to x') \\ &= (x^2)' \to (x \to x') \\ &= x \to ((x^2)' \to x') \\ &= x \to (x \to (x^2)'') \\ &= x^2 \to (x^2)'' = 1. \end{aligned}$$

So,  $x'' \odot x'' \leq (x^2)''$ . Since  $I \in \mathcal{ID}(A)$  and  $(x^2)'' \in I$ , we get  $1 \odot x'' \odot x'' = x'' \odot x'' \in I$ . Then by (ii),  $1 \odot x = x \in I$ .

(iii)  $\Rightarrow$  (ii): Let  $x \odot y'' \odot y'' \in I$  for any  $x, y \in A$ . By Proposition 2.1 (viii) and (vii),  $y \leqslant y''$ , then  $y \odot y \leqslant y'' \odot y''$ . Since  $x^2 \leqslant x$ , we have  $x^2 \odot y^2 \leqslant x \odot y'' \odot y''$ . Since  $x \odot y'' \odot y'' \in I$  and  $I \in \mathcal{ID}(A)$ , we obtain that  $(x \odot y)^2 \in I$ . Then by (iii),  $x \odot y \in I$ . (iii)  $\Rightarrow$  (iv): Let  $a \in \{x \in A : x^2 = 0\}$ . Then  $a^2 = 0 \in I$ , by (iii),  $a \in I$ , and so  $\{x \in A : x^2 = 0\} \subseteq I$ .

(iv)  $\Rightarrow$  (iii): Suppose  $x^2 \in I$  for any  $x \in A$ . Then  $x^2/I = 0/I$ . Since  $\{0/I\} \in \mathcal{ID}(A/I)$ , by (iv),  $x/I \in 0/I$ . Hence,  $x \in I$ .

**Corollary 4.7.** Let I be an implicative ideal of A and  $J \in \mathcal{ID}(A)$  such that  $I \subseteq J$ . Then J is an implicative ideal of A.

Proof. Since  $I \subseteq J$  and I is an implicative ideal, then by Proposition 4.6,  $\{x \in A : x^2 = 0\} \subseteq I \subseteq J$ . As  $J \in \mathcal{ID}(A)$ , hence by Proposition 4.6, J is an implicative ideal of A.

**Corollary 4.8.** Let  $I \in \mathcal{ID}(A)$ . If I is an implicative ideal of A, then  $x' \land x \in I$  for any  $x \in A$ .

Proof. Let *I* be an implicative ideal of *A*. Since  $x \wedge x' \leq x, x'$ , we obtain that  $(x \wedge x')^2 \leq x \odot x' = 0$ . Then  $(x \wedge x')^2 = 0$ . Thus, by Proposition 4.6,  $\{x \in A: x^2 = 0\} \subseteq I$ , and so  $x \wedge x' \in I$ .

In the following example, we show that the converse of Corollary 4.8 may be not true, in general.

Example 4.9. According to Example 3.2,  $I = \{0, a\} \in \mathcal{ID}(A)$ . But,  $d \wedge d' = d \odot (d \to d') = d \odot a = 0 \in I$  provided that, in Example 4.5, we show that I is not an implicative ideal of A.

**Proposition 4.10.** Let  $I \in \mathcal{ID}(A)$ . If I is an implicative ideal of A such that  $x'' \odot y \odot z' \in I$  and  $x \odot y' \in I$ , then  $x \odot z' \in I$ .

Proof. Let for any  $x, y, z \in A$ ,  $x'' \odot y \odot z' \in I$ . Then by Proposition 2.1 (vii) and (viii) we have

$$\begin{split} (x'' \odot y \odot z')' \odot (x'' \odot y'' \odot z') &= ((y \odot z') \to x') \odot (x'' \odot y'' \odot z') \\ &= z' \odot (z' \to (y \to x')) \odot x'' \odot y'' \\ &\leq (y \to x') \odot x'' \odot y'' \\ &= (y \to x') \odot (x' \to 0) \odot y'' \\ &\leq y' \odot y'' = 0 \in I. \end{split}$$

Since  $I \in \mathcal{ID}(A)$ ,  $(x'' \odot y \odot z')' \odot (x'' \odot y'' \odot z') \in I$ , and so  $x'' \odot y'' \odot z' \in I$ . Also, from  $x \odot y' \in I$ , we have

$$(x \odot y')' \odot (y' \odot x'') = y' \odot (y' \to x') \odot x'' \leqslant x' \odot x'' = 0 \in I.$$

Since  $I \in \mathcal{ID}(A)$ ,  $(x \odot y')' \odot (y' \odot x'') \in I$ , and so  $y' \odot x'' \in I$ . Since I is an implicative ideal of A, we get that  $z' \odot x'' \in I$ . Moreover, by Proposition 2.1 (viii),  $z' \odot x \leq z' \odot x''$ , and so  $x \odot z' \in I$ .

By the next example, we can show that the converse of Proposition 4.10 may be not true, in general.

Example 4.11. According to Example 3.2,  $I = \{0, a\} \in \mathcal{ID}(A)$ . Let  $y \odot x'' \odot z' = b \odot c'' \odot d' = b \odot c \odot a = 0 \in I$  and  $x \odot y' = c \odot b' = c \odot c = a \in I$ . By assumption,  $x \odot z' = c \odot d' = c \odot a = a \in I$ . But by Example 4.5, we show that I is not an implicative ideal of A.

**Proposition 4.12.** Let *I* be a nonempty subset of *A*. Then for any  $x, y, z \in A$ , the following conditions are equivalent:

- (i) I is an implicative ideal of A;
- (ii)  $I \in \mathcal{ID}(A)$  and if  $(x \odot y') \odot y' \in I$ , then  $x \odot y' \in I$ ;
- (iii)  $I \in \mathcal{ID}(A)$  and if  $(x \odot y') \odot z' \in I$ , then  $(x \odot z') \odot (y \odot z')' \in I$ ;
- (iv)  $0 \in I$  and if  $((x \odot y') \odot y') \odot z' \in I$  and  $z \in I$ , then  $x \odot y' \in I$ .

Proof. (i)  $\Rightarrow$  (ii): By Theorem 4.4, I is an ideal of A. Let  $(x \odot y') \odot y' \in I$ . Since I is an implicative ideal of A and by Proposition 2.1 (viii),  $y \odot y' = 0 \in I$ , we have  $x \odot y' \in I$ .

(ii)  $\Rightarrow$  (iii): Let  $(x \odot y') \odot z' \in I$ . Then by Proposition 2.1 (vi),

$$x \odot (y \odot z')' \odot z' \odot z' = x \odot z' \odot z' \odot (z' \to y') \leqslant (x \odot y') \odot z' \in I$$

and  $I \in \mathcal{ID}(A)$ ; thus,  $x \odot (y \odot z')' \odot z' \odot z' \in I$ . By (ii),  $(x \odot z') \odot (y \odot z')' = x \odot (y \odot z')' \odot z' \in I$ .

(iii)  $\Rightarrow$  (i): Suppose  $(x \odot y') \odot z' \in I$  and  $y \odot z' \in I$ . Then by (iii),  $(x \odot z') \odot (y \odot z')' \in I$ . Since  $y \odot z' \in I$  and  $I \in \mathcal{ID}(A)$ ,  $x \odot z' \in I$ . Hence, I is an implicative ideal of A.

(ii)  $\Rightarrow$  (iv): Since  $I \in \mathcal{ID}(A)$ ,  $0 \in I$ . Let  $((x \odot y') \odot y') \odot z' \in I$  and  $z \in I$ . Since  $I \in \mathcal{ID}(A)$ , we have  $(x \odot y') \odot y' \in I$ . By (ii),  $x \odot y' \in I$ .

(iv)  $\Rightarrow$  (ii): First we prove that  $I \in \mathcal{ID}(A)$ . For this, suppose  $x \odot y' \in I$  and  $y \in I$ . We have  $x \odot y' = x \odot 0' \odot 0' \odot y' \in I$ . Then by (iv),  $x \in I$ . Now, let  $x, y \in I$ . By Proposition 2.1 (viii),  $(x' \to y) \odot x' \odot x' \odot y' \leq x'' \odot x' \odot x' = 0 \in I$ . By (I2),  $(x' \to y) \odot x' \odot x' \odot y' \in I$ . Since  $y \in I$ , by (iv),  $(x' \to y) \odot x' \in I$ . Also, from  $x \in I$ , we obtain that  $x' \to y \in I$ . Hence,  $I \in \mathcal{ID}(A)$ . Now, suppose  $(x \odot y') \odot y' \in I$ . Let z = 0 in (iv). Then by (iv),  $x \odot y' \in I$ .

Notation. As we know, a *Boolean algebra* is a structure  $(B, +, \cdot, -, 0, 1)$ , with two binary operations "+" and " $\cdot$ ", a unary operation "-" and two distinguished elements 0 and 1 such that B with these operations makes a complemented distributive commutative algebra.

**Theorem 4.13.** If A is a bounded  $\lor$ -hoop with (DNP), then I is an implicative ideal if and only if A/I is a Boolean algebra.

Proof. ( $\Rightarrow$ ) Let *I* be an implicative ideal of *A*. Then by Proposition 4.6, for any  $a \in A$ ,  $a \wedge a' \in I$ . Since  $a/I \wedge a'/I = (a \wedge a')/I$ , we get  $a/I \wedge a'/I = 0/I$ . Also, since  $(a/I \vee a'/I)' = (a \vee a')'/I = (a' \wedge a'')/I = 0/I$ , we have  $(a/I \vee a'/I)'' = 1/I$ . Since *A* has (DNP),  $a/I \vee a'/I = 1/I$ . Hence, A/I is a Boolean algebra.

( $\Leftarrow$ ) Suppose A/I is a Boolean algebra,  $x \odot y' \odot z' \in I$  and  $y \odot z' \in I$  for any  $x, y, z \in A$ . Since  $x \odot y' \odot z' \in I$  and  $y \odot z' \in I$ , we have  $(x \odot y' \odot z')/I = 0/I$  and  $(y \odot z')/I = 0/I$ . Moreover, since A/I is a Boolean algebra,  $y/I \lor y'/I = 1/I$ . Then by Proposition 2.1 (x),

$$\begin{split} (x \odot z')/I &= x/I \odot z'/I \odot 1/I = x/I \odot z'/I \odot (y/I \lor y'/I) \\ &= (x/I \odot z'/I \odot y/I) \lor (x/I \odot z'/I \odot y'/I) = 0/I. \end{split}$$

Hence,  $x \odot z' \in I$ . Therefore, I is an implicative ideal of A.

155

# Proposition 4.14.

- (i) If φ: A → B is a hoop homomorphism and I is an implicative ideal of B, then φ<sup>-1</sup>(I) is an implicative ideal of A.
- (ii) If φ: A → B is surjective and I is an implicative ideal of A, then φ(I) is an implicative ideal of B.

Proof. Similar to the proof of Proposition 3.15.

**Proposition 4.15.** Let  $I \in \mathcal{ID}(A)$ . Then I is an implicative ideal of A if and only if, for any  $a \in A$ , the set  $I_a = \{x \in A : x \odot a' \in I\}$  is the least ideal of A containing I and  $\{a\}$ .

Proof. ( $\Rightarrow$ ) Let  $a \in A$ . Since  $0 \in A$  and  $0 \odot a' = 0 \in I$ , we have  $0 \in I_a \neq \emptyset$ . Suppose  $x' \odot y \in I_a$  and  $x \in I_a$ . Then  $(x' \odot y) \odot a' \in I$  and  $x \odot a' \in I$ . Since I is an implicative ideal, we get that  $y \odot a' \in I$ , and so  $y \in I_a$ . Now, let  $x, y \in I_a$ . Then  $x \odot a' \in I$  and  $y \odot a' \in I$ . By Proposition 2.1 (vi), we have,  $(x' \to y) \odot x' \odot a' = x' \odot (x' \to y) \odot a' \leqslant y \odot a' \in I$ . Since  $I \in \mathcal{ID}(A)$  and  $y \odot a' \in I$ , we have  $(x' \to y) \odot x' \odot a' = a' \odot (x' \to y) \odot x' \odot a' \in I$ . Moreover, from  $x \odot a' \in I$  and the fact that I is an implicative ideal, we obtain that  $(x' \to y) \odot a' \in I$ . Then  $x' \to y \in I_a$ . Hence,  $I_a$  is an ideal of A. Also, since  $a \odot a' = 0 \in I$ , we get  $a \in I_a$ . Let  $x \in I$ . By Proposition 2.1 (ii),  $x \odot a' \leqslant x$ . Since  $I \in \mathcal{ID}(A)$  and  $x \in I$ , we have  $x \odot a' \in I$ , and so  $x \in I_a$ . Hence,  $I \subseteq I_a$ . Hence,  $I \subseteq I_a$ . Hence,  $I \subseteq I_a$ . Then  $x \odot a' \in I \subseteq J$ , and so  $x \odot a' \in J$ . Since  $J \in \mathcal{ID}(A)$  and  $a \in J$ , we have  $x \in J$ . Hence,  $I_a \subseteq J$ . Therefore,  $I_a$  is the least ideal of A containing I and  $\{a\}$ .

( $\Leftarrow$ ) Let  $I \in \mathcal{ID}(A)$  and for any  $x, y, z \in A$ , let  $x \odot y' \odot z' \in I$  and  $y \odot z' \in I$ . According to the definition of  $I_a$ , it is clear that  $x \odot y' \in I_z$  and  $y \in I_z$ . Since  $I_z \in \mathcal{ID}(A)$ , we get that  $x \in I_z$ , and so  $x \odot z' \in I$ . Hence, I is an implicative ideal of A.

**Proposition 4.16.** Let I, J be two ideals of A. Then the following statements hold:

- (i)  $I_a = I$  if and only if  $a \in I$ ;
- (ii) if  $a \leq b$ , then  $I_a \subseteq I_b$ ;
- (iii) if  $I \subseteq J$ , then  $I_a \subseteq J_a$ ;
- (iv)  $(I \cap J)_a = I_a \cap J_a$  and  $(I \cup J)_a = I_a \cup J_a$ ;
- (v)  $I_{a\ominus b} \subseteq (I_a)_b$ .

Proof. (i) By Proposition 4.15, since  $I \cup \{a\} \subseteq I_a$  and  $I_a = I$ , we have  $a \in I$ . Now, if  $a \in I$ , since  $I_a$  is the least ideal of A containing I and  $\{a\}$ , it is clear that  $I_a = I$ . (ii) Let  $a \leq b$  and  $x \in I_a$ . Then  $x \odot a' \in I$ . Since  $a \leq b$ , by Proposition 2.1 (vii) and (viii),  $b' \leq a'$ , and so  $x \odot b' \leq x \odot a'$ . Since  $I \in \mathcal{ID}(A)$  and  $x \odot a' \in I$ , we have  $x \odot b' \in I$ . Then  $x \in I_b$ .

(iii) Let  $I, J \in \mathcal{ID}(A)$  and  $I \subseteq J$ . If  $x \in I_a$ , then  $x \odot a' \in I$ , and so  $x \odot a' \in J$ . Hence,  $x \in J_a$ .

(iv) Since  $I \cap J \subseteq I$ , J, by (iii),  $(I \cap J)_a \subseteq I_a \cap J_a$ . Let  $x \in I_a \cap J_a$ . Then  $x \odot a' \in I$ and  $x \odot a' \in J$ , thus,  $x \odot a' \in I \cap J$ . Hence,  $x \in (I \cap J)_a$ . The proof of the other case is similar.

(v) Let  $x \in I_{a \ominus b}$ . Then  $x \odot (a \ominus b)' = x \odot (a' \to b)' \in I$ . By (HP3), we have,

$$(a' \odot b') \to (a' \to b)' = (a' \to b) \to ((a' \odot b') \to 0) = (a' \to b) \to (a' \to b'') = 1.$$

Thus,  $(a' \odot b') \leq (a' \to b)'$ , and so  $x \odot (a' \odot b') \leq x \odot (a' \to b)' \in I$ . Since  $I \in \mathcal{ID}(A)$ ,  $x \odot (a' \odot b') \in I$ . Hence,  $x \in (I_a)_b$ .

**Proposition 4.17.** Let A be a bounded hoop with (DNP). Then the following statements are equivalent:

- (i) any ideal I of A is an implicative ideal;
- (ii)  $\{0\}$  is an implicative ideal of A;
- (iii) for any  $a \in A$ , the set  $A(a) = \{x \in A : x \odot a' = 0\}$  is an ideal of A.

Proof. (i)  $\Rightarrow$  (ii): Since {0} is a trivial ideal of A, by (i), the proof is clear.

(ii)  $\Rightarrow$  (iii): Since  $0 \in A$  and  $0 \odot a' = 0$ , we have  $0 \in A(a) \neq \emptyset$ . Suppose  $x, y \in A(a)$ . Then  $x \odot a' = y \odot a' = 0$ . Since A has (DNP),  $x = x'' \in A(a)$ . Then by Proposition 2.1 (vi),  $(x' \to y) \odot y' \odot a' = (x' \to y) \odot (y \to 0) \odot a' \leqslant x'' \odot a' = x \odot a'$ . Since  $x \odot a' = 0$ , we get that  $(x' \to y) \odot y' \odot a' = 0 \in \{0\}$ . Also,  $y \odot a' = 0 \in \{0\}$ . Since  $\{0\}$  is an implicative ideal of A,  $(x' \to y) \odot a' = 0$ , so  $x' \to y \in A(a)$ . Now, suppose  $x \leqslant y$  and  $y \in A(a)$ . Then by Proposition 2.1 (vii),  $x \odot a' \leqslant y \odot a' = 0$ , thus,  $x \odot a' = 0$ . Hence,  $x \in A(a)$ . Therefore, A(a) is an ideal of A.

(iii)  $\Rightarrow$  (i): Let  $I \in \mathcal{ID}(A)$  such that  $x \odot y' \odot z' \in I$  and  $y \odot z' \in I$  for any  $x, y, z \in A$ . Since  $I \in \mathcal{ID}(A)$ , A/I is a hoop. Then by (iii), for any  $a/I \in A/I$  we have  $A/I(a/I) \in \mathcal{ID}(A/I)$ . Then  $(x \odot y')/I \odot z'/I = 0$  and  $y/I \odot z'/I = 0$ . Thus,  $(x \odot y')/I \in A/I(z/I)$  and  $y/I \in A/I(z/I)$ . Since  $A/I(z/I) \in \mathcal{ID}(A/I)$ , we have  $x/I \in A/I(z/I)$ . Then  $x/I \odot z'/I = 0$ . Hence,  $x \odot z' \in I$ . Therefore, I is an implicative ideal of A.

# 5. PRIME, MAXIMAL AND BOOLEAN IDEALS IN HOOPS

In this section, we introduce prime, maximal and Boolean ideals in a hoop and investigate the relation between these ideals and implicative one. Also, we study the quotients that are made by them.

**Definition 5.1.** Let *P* be a proper ideal of *A*. *P* is called a *prime ideal* of *A* if  $x \land y \in P$  implies  $x \in P$  or  $y \in P$  for any  $x, y \in A$ . The set of all prime ideals of *A* is denoted by Spec(*A*).

E x a m p l e 5.2. According to Example 3.3, we can easily see that both ideals  $I_1$  and  $I_2$  are prime ideals of A.

**Proposition 5.3.** If A is a  $\lor$ -hoop with (DNP), then I is a prime ideal if and only if I' = F is a prime filter of A.

Proof. Proof is similar to the proof of Proposition 3.6.

**Proposition 5.4.** Let A be a  $\lor$ -hoop with (DNP) and let P be a proper ideal of A. Then P is a prime ideal if and only if, for any  $I, J \in \mathcal{ID}(A)$  such that  $I \cap J \subseteq P$ , we get  $I \subseteq P$  or  $J \subseteq P$ .

Proof. ( $\Rightarrow$ ) Suppose  $I, J \in \mathcal{ID}(A)$  such that  $I \cap J \subseteq P$ , but  $I \nsubseteq P$  and  $J \nsubseteq P$ . Then there exist  $x \in I - P$  and  $y \in J - P$ . Since  $x \land y \leqslant x, y$  and  $I, J \in \mathcal{ID}(A)$ ,  $x \land y \in I \cap J \subseteq P$ , and so  $x \land y \in P$ . Since  $P \in \text{Spec}(A)$ , we get that  $x \in P$  or  $y \in P$ , which is a contradiction. Hence,  $I \subseteq P$  or  $J \subseteq P$ .

(⇐) Let  $P \in \mathcal{ID}(A)$  such that for any  $x, y \in A$ ,  $x \land y \in P$ . If  $x, y \notin P$ , then by Corollary 3.14,  $(P \cup \{x\}] \cap (P \cup \{y\}] = (P \cup \{x \land y\}] = P$ . Thus, by assumption,  $(P \cup \{x\}] \subseteq P$  or  $(P \cup \{y\}] \subseteq P$ , and so  $x \in P$  or  $y \in P$ , which is a contradiction. Hence,  $P \in \text{Spec}(A)$ .

**Proposition 5.5.** Let  $\varphi : A \to B$  be a hoop homomorphism. Then the following statements hold:

(i) if  $\varphi$  is an epimorphism and  $P \in \text{Spec}(B)$ , then  $\varphi^{-1}(P) \in \text{Spec}(A)$ ;

(ii) if  $\varphi$  is surjective and  $P \in \text{Spec}(A)$  such that  $P \neq B$ , then  $\varphi(P) \in \text{Spec}(B)$ .

Proof. By Propositions 3.15 and 5.4, the proof is clear.

**Theorem 5.6.** Let A be a  $\lor$ -hoop with (DNP), let I be a proper ideal of A and  $\emptyset \neq S \subseteq A$  such that  $I \cap S = \emptyset$ . If S is  $\land$ -closed, then there exists  $P \in \text{Spec}(A)$  such that  $I \subseteq P$  and  $P \cap S = \emptyset$ .

Proof. Let  $\Sigma = \{J \in \mathcal{ID}(A) : I \subseteq J \text{ and } J \cap S = \emptyset\}$ . Since  $I \in \Sigma$ , hence  $\Sigma \neq \emptyset$ . If  $\{J_{\lambda}\}_{\lambda \in \Delta}$  is a family of ideals of A that are in  $\Sigma$ , then by Zorn's lemma we can see that  $P = \bigcup_{\lambda \in \Delta} J_{\lambda}$  is a maximal element of  $\Sigma$ . So, it is enough to prove that P is a prime ideal. Since  $P \cap S = \emptyset$ , it is clear that P is proper. Now, suppose  $x \wedge y \in P$  for  $x, y \in A$  such that  $x, y \notin P$ . Then by Corollary 3.14,  $(P \cup \{x\}] \cap (P \cup \{y\}] = (P \cup \{x \wedge y\}] = P$ . Since  $P \subseteq (P \cup \{x\}] \cap (P \cup \{y\}]$  and P is a maximal element of  $\Sigma$ , we get  $(P \cup \{x\}] \notin \Sigma$  and  $(P \cup \{y\}] \notin \Sigma$ , so  $(P \cup \{x\}] \cap S \neq \emptyset$  and  $(P \cup \{y\}] \cap S \neq \emptyset$ . Then there exist  $a \in (P \cup \{x\}] \cap S$  and  $b \in (P \cup \{y\}] \cap S$ . Since S is  $\wedge$ -closed, we have

$$a \land b \in [(P \cup \{x\}] \cap (P \cup \{y\}]] \cap S = P \cap S$$

So, we consequence that  $P \cap S \neq \emptyset$ , which is a contradiction. Then,  $P \in \text{Spec}(A)$ . Therefore, there exists  $P \in \text{Spec}(A)$  such that  $I \subseteq P$  and  $P \cap S = \emptyset$ .

**Corollary 5.7.** Let A be a  $\lor$ -hoop with (DNP). Then for any proper ideal I of A there exists  $P \in \text{Spec}(A)$  such that  $I \subseteq P$ .

Proof. Since I is a proper ideal of A, there exists  $x \in A - I$ . Let  $S = \{x\}$ . Then by Theorem 5.6, the proof is clear.

**Definition 5.8.** Let M be a proper ideal of A. Then M is called a *maximal ideal* of A if no proper ideal of A strictly contains M. It means that if there exists an ideal J of A such that  $M \subseteq J \subseteq A$ , then M = J or J = A. The set of all maximal ideals of A is denoted by Max(A).

E x a m p l e 5.9. According to Example 3.3, we can easily see that both the ideals  $I_1$  and  $I_2$  are maximal ideals of A.

**Proposition 5.10.** Let A be a  $\lor$ -hoop with (DNP). Then every maximal ideal of A is a prime one.

Proof. Let  $M \in Max(A)$  and  $x \wedge y \in M$  for any  $x, y \in A$ . If  $x \notin M$ , then  $M \subseteq (M \cup \{x\}]$ . Since  $M \in Max(A)$ , we get  $(M \cup \{x\}] = A$ . In a similar way, if  $y \notin M$ , then  $(M \cup \{y\}] = A$ . By Corollary 3.14,  $A = (M \cup \{x\}] \cap (M \cup \{y\}] = (M \cup \{x \land y\}] = M$ , which is a contradiction. Hence,  $M \in Spec(A)$ .

**Proposition 5.11.** Let  $\varphi$ :  $A \to B$  be a hoop homomorphism. Then the following statements hold:

- (i) if  $\varphi$  is an epimorphism and  $M \in Max(B)$ , then  $\varphi^{-1}(M) \in Max(A)$ ;
- (ii) if  $\varphi$  is surjective and  $M \in Max(A)$  such that  $\varphi(M) \neq B$ , then  $\varphi(M) \in Max(B)$ .

Proof. By Propositions 3.15 and 5.4, the proof is clear.

159

**Theorem 5.12.** Let A be a hoop and M a proper ideal of A. Then the following statements are equivalent:

- (i) *M* is a maximal ideal of *A*;
- (ii) A/M is a simple hoop;
- (iii)  $|\mathcal{ID}(A/M)| = 2.$

Proof. (i)  $\Rightarrow$  (ii): Let  $M \in Max(A)$ . Then for any  $J \in \mathcal{ID}(A)$  such that  $M \subsetneq J, J/M \in \mathcal{ID}(A/M)$ . Since  $M \in Max(A)$  and  $M \subsetneq J$ , we get that J = A. So, A/M has just trivial ideals. Hence, A/M is a simple hoop.

(ii)  $\Rightarrow$  (iii): It is clear.

(iii)  $\Rightarrow$  (i): Let  $|\mathcal{ID}(A/M)| = 2$ . Suppose  $M, J \in \mathcal{ID}(A)$  such that  $M \subsetneq J$ . If  $J \neq A$ , then  $\{0\} = M \subsetneq J/M \subsetneq A/M$ . Thus,  $|\mathcal{ID}(A/M)| > 2$ , which is a contradiction. Hence, M is a maximal ideal of A.

**Definition 5.13.** An ideal I of A is called a *Boolean ideal* if  $x \wedge x' \in I$  for any  $x, y \in A$ .

Example 5.14. According to Example 3.3, we can easily see that both the ideals  $I_1$  and  $I_2$  are Boolean ideals of A.

According to Corollary 4.8, every implicative ideal is a Boolean ideal, but by Example 4.9, converse may be not true, in general.

**Theorem 5.15.** Let A be a bounded  $\lor$ -hoop with (DNP) and let I be a proper ideal of A. Then the following statements are equivalent:

- (i) I is a prime implicative ideal of A;
- (ii) I is a maximal implicative ideal of A;

(iii) if  $x, y \notin I$ , then  $x \odot y' \in I$  and  $x' \odot y \in I$ ;

- (iv) if  $x \notin I$ , then there exists  $n \in \mathbb{N}$  such that  $x_{\ominus}^n = x' \ominus x' \ominus \ldots \ominus x' \in I$ ;
- (v)  $x \in I$  or  $x' \in I$ .

Proof. (i)  $\Rightarrow$  (ii): Let I be a proper ideal of A such that  $I \notin Max(A)$ . Then there exists  $J \in \mathcal{ID}(A)$  such that  $I \subsetneq J \subsetneq A$ . Thus, there is an element  $x \in J - I$ . Since  $(x' \land x) \odot x' = x \odot (x \to x') \odot x' = 0 \in I \subseteq J$ , we get that  $x \land x' \in (I \cup \{x\}] \subseteq J$ . Since  $x \land x' \in (I \cup \{x\}]$ , if  $x \land x' \in I$ , from  $I \in \text{Spec}(A)$ , then  $x' \in I$ , and so  $x' \in J$ . Since  $J \in \mathcal{ID}(A)$ ,  $x \ominus x' = 1 \in J$ , which is a contradiction. If  $x \land x' = x$ , then  $x \leqslant x'$ , and so  $x^2 = 0$ . Since I is an implicative ideal of A, by Proposition 4.6,  $x \in I$ , which is a contradiction. Hence,  $I \in \text{Max}(A)$ .

(ii)  $\Rightarrow$  (i): By Proposition 5.10, the proof is clear.

(ii)  $\Rightarrow$  (iii): Suppose  $x, y \notin I$ . Since  $I \in Max(A)$ , we have  $(I \cup \{x\}] = (I \cup \{y\}] = A$ . Then  $y \in (I \cup \{x\}]$  and  $x \in (I \cup \{y\}]$ . Thus,  $x \odot y' \in I$  and  $x' \odot y \in I$ . (iii)  $\Rightarrow$  (iv): If  $x \notin I$ , since  $1 \notin I$ , then by (ii),  $1 \odot x' \in I$  and  $x \odot 1' = 0 \in I$ . Thus,  $x' \in I$ . So, for n = 1, the proof is clear.

(iv)  $\Rightarrow$  (v): Let  $x \notin I$ . Then there exists  $n \in \mathbb{N}$  such that  $x_{\ominus}^n = x' \ominus x' \ominus \ldots \ominus x' \in I$ . Since  $x' \leq x_{\ominus}^n$  and  $I \in \mathcal{ID}(A)$ , we have  $x' \in I$ .

(v)  $\Rightarrow$  (ii): Suppose  $I \notin Max(A)$ . Then there exists  $J \in \mathcal{ID}(A)$  such that  $I \subsetneq J \subsetneq A$ . Let  $x \in J - I$ . Then by (iii),  $x' \in I$ , and so  $x' \in J$ . Since  $x, x' \in J$  and  $J \in \mathcal{ID}(A)$ ,  $1 = x' \to x' \in J$ . Thus, J = A, which is a contradiction. Hence,  $I \in Max(A)$ . Now, suppose  $x^2 \in I$  for any  $x \in A$ . By Proposition 4.6, it is enough to prove that  $x \in I$ . Let  $x \notin I$ . Then by (iii),  $x' \in I$ . Since  $I \in \mathcal{ID}(A)$  and  $x^2, x' \in I$ , we have  $(x^2)' \to x' \in I$ . Then  $(x \to x') \to x' = ((x \odot x) \to 0) \to x' = (x^2)' \to x' \in I$ . Since  $x \leqslant (x \to x') \to x'$  and  $I \in \mathcal{ID}(A)$ , we have  $x \in I$ . Therefore, I is an implicative ideal of A.

**Corollary 5.16.** Let A be a bounded  $\lor$ -hoop with (DNP). If every proper ideal of A is an implicative ideal, then Spec(A) = Max(A).

Proof. By Theorem 5.15, the proof is clear.

# 6. Conclusions

In this paper we define and characterize the notions of (implicative, maximal, prime) ideals in hoops. Then we investigate the relation between them and prove that every maximal implicative ideal of a  $\lor$ -hoop with (DNP) is a prime one. Also, we define a congruence relation on hoops by ideals and study the quotient that is made by it. This notion helps us to show that an ideal is maximal if and only if the quotient hoop is a simple MV-algebra. Also, we investigate the relationship between ideals and filters by exploiting the set of complements.

A c k n o w l e d g e m e n t. The authors wish to express their appreciation for several excellent suggestions for improvements in this paper made by the editor and referees.

# References

- S. Z. Alavi, R. A. Borzooei, M. Aaly Kologani: Filter theory of pseudo hoop-algebras. Ital. J. Pure Appl. Math. 37 (2017), 619–632.
- [2] A. Borumand Saeid, S. Motamed: Some results in BL-algebras. Math. Log. Q. 55 (2009), 649–658.
- [3] R. A. Borzooei, M. Aaly Kologani: Filter theory of hoop-algebras. J. Adv. Res. Pure Math. 6 (2014), 72–86.
- [4] R. A. Borzooei, M. Aaly Kologani: Stabilizer topology of hoops. J. Alg. Structures and Their Appl. 1 (2014), 35–48.

[5]	B. Bosbach: Komplementäre Halbgruppen. Axiomatik und Arithmetik. Fundam. Math.	
	64 (1969), 257–287. (In German.)	zbl <mark>MR</mark> doi
[6]	B. Bosbach: Komplementäre Halbgruppen. Kongruenzen und Quotienten. Fundam.	
	Math. 69 (1970), 1–14. (In German.)	zbl <mark>MR doi</mark>
[7]	A. Di Nola, L. Leuştean: Compact representations of BL-algebras. Arch. Math. Logic 42	
	(2003), 737-761.	zbl MR doi
[8]	F. Esteva, L. Godo: Monoidal t-norm based logic, towards a logic for left-continuous	
	t-norms. Fuzzy Sets Syst. 124 (2001), 271–288.	zbl MR doi
[9]	G. Georgescu, L. Leuştean, V. Preoteasa: Pseudo-hoops. J. MultVal. Log. Soft Comput.	
	11 (2005), 153-184.	$\mathrm{zbl}\ \mathbf{MR}$
[10]	P. Hájek: Mathematics of Fuzzy Logic. Trends in Logic-Studia Logica Library 4. Kluwer	
	Academic Publishers, Dordrecht, 1998.	zbl MR doi
[11]	M. Kondo, W. A. Dudek: Filter theory of BL-algebras. Soft Comput. 12 (2008), 419–423.	zbl doi
[12]	T. Kowalski, H. Ono: Residuated Lattices: An Algebraic Glimpse at Logic Without	
	Contraction. Japan Advanced Institute of Science and Technology (2001).	
[13]	A. Namdar, R. A. Borzooei, A. Borumand Saeid, M. Aaly Kologani: Some results in hoop	
	algebras. J. Intell. Fuzzy Syst. 32 (2017), 1805–1813.	zbl doi

Authors' addresses: Mona Aaly Kologani, Hatef Higher Education Institute, Bozorgmehr, Zahedan, Iran, e-mail: mona4011@gmail.com; Rajab Ali Borzooei, Department of Mathematics, Faculty of Mathematical Sciences, Shahid Beheshti University, District 1, Daneshjou Boulevard, 19839 69411, Tehran, Iran, e-mail: borzooei@sbu.ac.ir.